

INEQUALITIES OF HERMITE–HADAMARD TYPE FOR CONVEX FUNCTIONS WHICH ARE n -TIMES DIFFERENTIABLE

SHU-HONG WANG AND FENG QI

(Communicated by Josip Pečarić)

Abstract. In the paper, by creating an integral identity and using Hölder's inequality, the authors establish some new inequalities of Hermite-Hadamard type for n -times differentiable convex functions.

1. Introduction

Throughout this paper, we use the notations $I \subseteq \mathbb{R} = (-\infty, \infty)$, I° , and \mathbb{N} to denote an interval, the interior of I , and the set of all positive integers respectively.

A function $f : I \rightarrow \mathbb{R}$ is said to be convex if the inequality

$$f(tx + (1-t)y) \leq tf(x) + (1-t)f(y) \quad (1.1)$$

is valid for all $x, y \in I$ and $t \in [0, 1]$. If the inequality (1.1) reverses, then f is said to be concave on I .

It is well known that the most important inequality in the theory of convex functions is Hermite-Hadamard's inequality below. If f is a convex function on $[a, b]$, then

$$f\left(\frac{a+b}{2}\right) \leq \frac{1}{b-a} \int_a^b f(x) dx \leq \frac{f(a)+f(b)}{2}. \quad (1.2)$$

If f is concave on $[a, b]$, then the inequality (1.2) is reversed.

The inequality (1.2) has been generalized in many articles for a long time. Some of them may be recited as follows.

Mathematics subject classification (2010): Primary 26D15; Secondary 26D20, 41A55, 41A99.

Keywords and phrases: Hermite-Hadamard's inequality, convex function, integral identity, Hölder's inequality.

This work was partially supported by the NNSF under Grant No. 11361038 of China, by the Foundation of the Research Program of Science and Technology at Universities of Inner Mongolia Autonomous Region under Grant No. NJZY13159, and by the Science Research Funding of Inner Mongolia University for Nationalities under Grant No. NMD1225, China.

THEOREM 1.1. ([2, Theorems 1 and 2]) *If f is differentiable on $[a, b]$ such that $|f'|^q$ for $q \geq 1$ is a convex function on $[a, b]$, then*

$$\left| \frac{f(a) + f(b)}{2} - \frac{1}{b-a} \int_a^b f(x) \, dx \right| \leq \frac{b-a}{4} \left(\frac{|f'(a)|^q + |f'(b)|^q}{2} \right)^{1/q} \quad (1.3)$$

and

$$\left| f\left(\frac{a+b}{2}\right) - \frac{1}{b-a} \int_a^b f(x) \, dx \right| \leq \frac{b-a}{4} \left(\frac{|f'(a)|^q + |f'(b)|^q}{2} \right)^{1/q}. \quad (1.4)$$

THEOREM 1.2. ([1, Theorems 2.3 and 2.4]) *Let $f : I \rightarrow \mathbb{R}$ be differentiable on I° , $a, b \in I^\circ$ with $a < b$, and $p > 1$. If $|f'(x)|^{p/(p-1)}$ is convex on $[a, b]$, then*

$$\begin{aligned} & \left| f\left(\frac{a+b}{2}\right) - \frac{1}{b-a} \int_a^b f(x) \, dx \right| \\ & \leq \frac{b-a}{16} \left(\frac{4}{p+1} \right)^{1/p} \left\{ [|f'(a)|^{p/(p-1)} + 3|f'(b)|^{p/(p-1)}]^{1-1/p} \right. \\ & \quad \left. + [3|f'(a)|^{p/(p-1)} + |f'(b)|^{p/(p-1)}]^{1-1/p} \right\} \end{aligned}$$

and

$$\left| f\left(\frac{a+b}{2}\right) - \frac{1}{b-a} \int_a^b f(x) \, dx \right| \leq \frac{b-a}{4} \left(\frac{4}{p+1} \right)^{1/p} [|f'(a)| + |f'(b)|]. \quad (1.5)$$

THEOREM 1.3. ([4]) *Let $0 \leq \lambda \leq 1$ and $a, b \in I^\circ$ with $a < b$. If $f : I^\circ \rightarrow \mathbb{R}$ is a twice differentiable mapping such that $f''(x)$ is integrable and $|f''(x)|$ is convex on $[a, b]$, then*

$$\begin{aligned} & \left| (\lambda - 1)f\left(\frac{a+b}{2}\right) - \lambda \frac{f(a) + f(b)}{2} + \int_a^b f(x) \, dx \right| \\ & \leq \begin{cases} \frac{(b-a)^2}{24} \left\{ \left[\lambda^4 + (1+\lambda)(1-\lambda)^3 + \frac{5\lambda-3}{5} \right] |f''(a)| \right. \\ \quad \left. + \left[\lambda^4 + (2-\lambda)\lambda^3 + \frac{1-3\lambda}{4} \right] |f''(b)| \right\}, & 0 \leq \lambda \leq \frac{1}{2}, \\ \frac{(b-a)^2}{48} (3\lambda - 1) [|f''(a)| + |f''(b)|], & \frac{1}{2} \leq \lambda \leq 1. \end{cases} \quad (1.6) \end{aligned}$$

THEOREM 1.4. ([5]) *Let $f : I \rightarrow \mathbb{R}$ be differentiable on I° , $a, b \in I^\circ$ with $a < b$, and $f' \in L[a, b]$. If $|f'(x)|^q$ for $q \geq 1$ is convex on $[a, b]$, then*

$$\begin{aligned} & \left| \frac{1}{6} \left[f(a) + f(b) + 4f\left(\frac{a+b}{2}\right) \right] - \int_a^b f(x) \, dx \right| \\ & \leq \frac{b-a}{12} \left[\frac{2q+1}{3(q+1)} \right]^{1/q} \left[\left(\frac{3|f'(a)|^q + |f'(b)|^q}{4} \right)^{1/q} + \left(\frac{|f'(a)|^q + 3|f'(b)|^q}{4} \right)^{1/q} \right] \quad (1.7) \end{aligned}$$

and

$$\begin{aligned} & \left| \frac{1}{6} \left[f(a) + f(b) + 4f\left(\frac{a+b}{2}\right) \right] - \int_a^b f(x) dx \right| \\ & \leq \frac{5(b-a)}{72} \left[\left(\frac{61|f'(a)|^q + 29|f'(b)|^q}{90} \right)^{1/q} + \left(\frac{29|f'(a)|^q + 61|f'(b)|^q}{90} \right)^{1/q} \right]. \end{aligned} \quad (1.8)$$

THEOREM 1.5. ([3, Theorem 3.1]) *Let $f : I \rightarrow \mathbb{R}$ be differentiable on I° , $a, b \in I^\circ$ with $a < b$, $0 \leq \lambda \leq \frac{1}{2} \leq \mu \leq 1$, and $f' \in L[a, b]$. If $|f'(x)|$ is convex on $[a, b]$, then*

$$\begin{aligned} & \left| (1-\mu)f(a) + \lambda f(b) + (\mu-\lambda)f\left(\frac{a+b}{2}\right) - \frac{1}{b-a} \int_a^b f(x) dx \right| \\ & \leq \frac{b-a}{24} \left[(10-3\lambda+8\lambda^3-15\mu+8\mu^3)|f'(a)| \right. \\ & \quad \left. + (8-9\lambda+24\lambda^2-8\lambda^3-21\mu+24\mu^2-8\mu^3)|f'(b)| \right]. \end{aligned} \quad (1.9)$$

In this paper, by creating an integral identity for n -times differentiable functions and using Hölder's integral inequality, we will establish some new inequalities of Hermite-Hadamard type for convex functions.

2. Lemmas

In order to obtain our main results, we need to create an integral identity below.

LEMMA 2.1. *Let $n \in \mathbb{N}$, $\xi_x = \frac{b-x}{b-a}$, and $f : [a, b] \rightarrow \mathbb{R}$ be a mapping such that $f^{(n-1)}(x)$ is absolutely continuous. If $f^{(n)}(x)$ exists on $[a, b]$, then for $\lambda, \mu \in \mathbb{R}$ and $x \in [a, b]$,*

$$\begin{aligned} S(x; \lambda, \mu) & \triangleq (1-\mu)f(a) + \lambda f(b) - \frac{1}{b-a} \int_a^b f(x) dx \\ & + \sum_{k=0}^{n-1} \frac{(-1)^k}{(k+1)!(b-a)} \left\{ (x-a)^k [x-a-(k+1)(1-\mu)(b-a)] \right. \\ & \quad \left. - (x-b)^k [x-b+(k+1)\lambda(b-a)] \right\} f^{(k)}(x) \\ & = \frac{(b-a)^n}{n!} \left\{ \int_0^{\xi_x} z^{n-1} (n\lambda-z) f^{(n)}[za+(1-z)b] dz \right. \\ & \quad \left. + \int_{\xi_x}^1 (z-1)^{n-1} [1-z-n(1-\mu)] f^{(n)}[za+(1-z)b] dz \right\}. \end{aligned} \quad (2.1)$$

Proof. When $n = 1$, integrating by part in the right-hand side of (2.1) gives

$$\begin{aligned}
& (b-a) \left[\int_0^{\xi_x} (\lambda-z) f'(za+(1-z)b) dz \right. \\
& \quad \left. + \int_{\xi_x}^1 (1-z-(1-\mu)) f'(za+(1-z)b) dz \right] \\
&= \lambda f(b) - (\lambda - \xi_x) f(x) - \int_0^{\xi_x} f(za+(1-z)b) dz \\
& \quad + (1-\mu) f(a) + (\mu - \xi_x) f(x) - \int_{\xi_x}^1 f(za+(1-z)b) dz \\
&= (1-\mu) f(a) + \lambda f(b) + (\mu - \lambda) f(x) - \frac{1}{b-a} \int_a^b f(x) dx.
\end{aligned}$$

When $n = m - 1$ and $m \geq 2$, suppose that the identity (2.1) holds. Then, when $n = m$,

$$\begin{aligned}
& \frac{(b-a)^m}{m!} \left[\int_0^{\xi_x} z^{m-1} (m\lambda - z) f^{(m)}(za+(1-z)b) dz \right. \\
& \quad \left. + \int_{\xi_x}^1 (z-1)^{m-1} (1-z-m(1-\mu)) f^{(m)}(za+(1-z)b) dz \right] \\
&= -\frac{(b-a)^{m-1}}{m!} \left[\xi_x^{m-1} (m\lambda - \xi_x) f^{(m-1)}(x) - (\xi_x - 1)^{m-1} (1 - \xi_x \right. \\
& \quad \left. - m(1-\mu)) f^{(m-1)}(x) - m \int_0^{\xi_x} z^{m-2} ((m-1)\lambda - z) f^{(m-1)}(za+(1-z)b) dz \right. \\
& \quad \left. - m \int_{\xi_x}^1 (z-1)^{m-2} (1-z-(m-1)(1-\mu)) f^{(m-1)}(za+(1-z)b) dz \right] \\
&= \frac{(-1)^{m-1}}{m!(b-a)} [(x-a)^{m-1} (x-a-m(1-\mu)(b-a)) \\
& \quad - (x-b)^{m-1} (x-b+m\lambda(b-a))] f^{(m-1)}(x) \\
& \quad + \frac{(b-a)^{m-1}}{(m-1)!} \left[\int_0^{\xi_x} z^{m-2} ((m-1)\lambda - z) f^{(m-1)}(za+(1-z)b) dz \right. \\
& \quad \left. + \int_{\xi_x}^1 (z-1)^{m-2} (1-z-(m-1)(1-\mu)) f^{(m-1)}(za+(1-z)b) dz \right] \\
&= S(x; \lambda, \mu).
\end{aligned}$$

This means that, when $n = m$, the integral identity (2.1) holds. By induction, the proof of Lemma 2.1 is complete. \square

LEMMA 2.2. Let $\alpha, \beta \in \mathbb{R}$, $\xi, c \geq 0$, and $r > -1$. Then

$$\int_0^c u^r |\xi - u| du = \frac{1}{(r+1)(r+2)} \begin{cases} [(r+2)\xi - (r+1)c] c^{r+1}, & \xi \geq c, \\ (r+1)c^{r+2} - (r+2)c^{r+1}\xi + 2\xi^{r+2}, & 0 \leq \xi < c \end{cases}$$

and

$$\int_0^c (\alpha u + \beta)|\xi - u|^r du = \frac{1}{(r+1)(r+2)}$$

$$\times \begin{cases} [(r+2)\beta + \alpha\xi]\xi^{r+1} - [\alpha c(r+1) + \beta(r+2) + \alpha\xi](\xi - c)^{r+1}, & \xi \geq c, \\ [(r+2)\beta + \alpha\xi]\xi^{r+1} + [\beta(r+2) + \alpha(c + cr + \xi)](c - \xi)^{r+1}, & 0 \leq \xi < c. \end{cases}$$

Proof. This follows from standard arguments. \square

3. Some new inequalities of Hermite-Hadamard type for convex functions

Now we start out to establish some new inequalities of Hermite-Hadamard type.

THEOREM 3.1. *Let $n \in \mathbb{N}$ and $f : I \rightarrow \mathbb{R}$ be a mapping such that $f^{(n-1)}(x)$ is absolutely continuous on $[a, b]$ and $a, b \in I^\circ$ with $a < b$. If $|f^{(n)}|^q$ is a convex function on $[a, b]$ for $q \geq 1$, then for all $x \in [a, b]$ and $\lambda, \mu \in [0, 1]$, we have*

$$|S(x; \lambda, \mu)| \leq \frac{(b-a)^n}{n!} \{ [A(\lambda, \xi_x; n)]^{1-1/q} [A(\lambda, \xi_x; n+1)] (|f^{(n)}(a)|^q - |f^{(n)}(b)|^q) + A(\lambda, \xi_x; n) |f^{(n)}(b)|^q \}^{1/q}$$

$$+ [A(1-\mu, 1-\xi_x; n)]^{1-1/q} [A(1-\mu, 1-\xi_x; n)] |f^{(n)}(a)|^q + A(1-\mu, 1-\xi_x; n+1) (|f^{(n)}(b)|^q - |f^{(n)}(a)|^q)^{1/q}, \tag{3.1}$$

where ξ_x is defined as in Lemma 2.1 and, for $c \geq 0$ and $r > -1$,

$$A(\lambda, c; r+1) = \frac{1}{(r+1)(r+2)}$$

$$\times \begin{cases} [(r+2)(n\lambda) - (r+1)c]c^{r+1}, & n\lambda \geq c, \\ (r+1)c^{r+2} - (r+2)(n\lambda)c^{r+1} + 2(n\lambda)^{r+2}, & 0 \leq n\lambda \leq c. \end{cases} \tag{3.2}$$

Proof. By Lemma 2.1, Hölder’s inequality, and the convexity of $|f^{(n)}|^q$, we have

$$|S(x; \lambda, \mu)| \leq \frac{(b-a)^n}{n!} \left[\int_0^{\xi_x} z^{n-1} |n\lambda - z| |f^{(n)}(za + (1-z)b)| dz + \int_{\xi_x}^1 (1-z)^{n-1} |1-z-n(1-\mu)| |f^{(n)}(za + (1-z)b)| dz \right]$$

$$\leq \frac{(b-a)^n}{n!} \left\{ \left(\int_0^{\xi_x} z^{n-1} |n\lambda - z| dz \right)^{1-1/q} \right. \tag{3.3}$$

$$\left. \times \left[\int_0^{\xi_x} z^{n-1} |n\lambda - z| (z |f^{(n)}(a)|^q + (1-z) |f^{(n)}(b)|^q) dz \right]^{1/q} \right.$$

$$\begin{aligned}
 & + \left(\int_{\xi_x}^1 (1-z)^{n-1} |1-z-n(1-\mu)| dz \right)^{1-1/q} \\
 & \times \left[\int_{\xi_x}^1 (1-z)^{n-1} |1-z-n(1-\mu)| (z|f^{(n)}(a)|^q + (1-z)|f^{(n)}(b)|^q) dz \right]^{1/q} \Big\}.
 \end{aligned}$$

By Lemma 2.2, a straightforward computation gives

$$\begin{aligned}
 & \int_0^{\xi_x} z^{n-1} |n\lambda - z| dz = A(\lambda, \xi_x; n), \\
 & \int_{\xi_x}^1 (1-z)^{n-1} |1-z-n(1-\mu)| dz = A(1-\mu, 1-\xi_x; n), \\
 & \int_0^{\xi_x} z^{n-1} |n\lambda - z| (z|f^{(n)}(a)|^q + (1-z)|f^{(n)}(b)|^q) dz \\
 & = A(\lambda, \xi_x; n+1) (|f^{(n)}(a)|^q - |f^{(n)}(b)|^q) + A(\lambda, \xi_x; n) |f^{(n)}(b)|^q,
 \end{aligned}$$

and

$$\begin{aligned}
 & \int_{\xi_x}^1 (1-z)^{n-1} |1-z-n(1-\mu)| (z|f^{(n)}(a)|^q + (1-z)|f^{(n)}(b)|^q) dz \\
 & = A(1-\mu, 1-\xi_x; n) |f^{(n)}(a)|^q + A(1-\mu, 1-\xi_x; n+1) (|f^{(n)}(b)|^q - |f^{(n)}(a)|^q).
 \end{aligned}$$

Substituting the above equations into (3.3) leads to the inequality (3.1). \square

REMARK 3.1. Taking $n = 1$, $x = \frac{a+b}{2}$, $q = 1$, and $0 \leq \lambda \leq \frac{1}{2} \leq \mu \leq 1$ in Theorem 3.1 may derive [3, Theorem 3.1] which has been recited as the above Theorem 1.5.

THEOREM 3.2. Let $n \in \mathbb{N}$ and $f : I \rightarrow \mathbb{R}$ be a mapping such that $f^{(n-1)}(x)$ is absolutely continuous on $[a, b]$ and $a, b \in I^\circ$ with $a < b$. If $|f^{(n)}|^q$ is a convex function on $[a, b]$ for $q > 1$ and $q(n-1) \geq r \geq 0$, then for $x \in [a, b]$ and $\lambda, \mu \in [0, 1]$, we have

$$\begin{aligned}
 |S(x; \lambda, \mu)| & \leq \frac{(b-a)^n}{n!} \left\{ \left[A\left(\lambda, \xi_x; \frac{nq-r-1}{q-1}\right) \right]^{1-1/q} \right. \\
 & \quad \times [A(\lambda, \xi_x; r+2) (|f^{(n)}(a)|^q - |f^{(n)}(b)|^q) + A(\lambda, \xi_x; r+1) |f^{(n)}(b)|^q]^{1/q} \\
 & \quad + \left[A\left(1-\mu, 1-\xi_x; \frac{nq-r-1}{q-1}\right) \right]^{1-1/q} [A(1-\mu, 1-\xi_x; r+1) |f^{(n)}(a)|^q \\
 & \quad \left. + A(1-\mu, 1-\xi_x; r+2) (|f^{(n)}(b)|^q - |f^{(n)}(a)|^q) \right]^{1/q} \Big\}, \tag{3.4}
 \end{aligned}$$

where ξ_x and $A(\lambda, c; r+1)$ are defined as in Lemma 2.1 and (3.2) respectively.

Proof. Similar to the proof of Theorem 3.1, by the convexity, Lemma 2.1, and Hölder’s inequality, we have

$$|S(x; \lambda, \mu)| \leq \frac{(b-a)^n}{n!} \left\{ \left(\int_0^{\xi_x} z^{[(n-1)q-r]/(q-1)} |n\lambda - z| dz \right)^{1-1/q} \right.$$

$$\begin{aligned} & \times \left[\int_0^{\xi_x} z^r |n\lambda - z| (z|f^{(n)}(a)|^q + (1-z)|f^{(n)}(b)|^q) dz \right]^{1/q} \\ & + \left(\int_{\xi_x}^1 (1-z)^{[(n-1)q-r]/(q-1)} |1-z-n(1-\mu)| dz \right)^{1-1/q} \\ & \times \left[\int_{\xi_x}^1 (1-z)^r |1-z-n(1-\mu)| (z|f^{(n)}(a)|^q + (1-z)|f^{(n)}(b)|^q) dz \right]^{1/q} \}. \end{aligned}$$

The rest is the same as in the proof of Theorem 3.1. \square

COROLLARY 3.1. *Under the conditions of Theorem 3.2,*

1. *if $r = 0$, then*

$$\begin{aligned} |S(x; \lambda, \mu)| & \leq \frac{(b-a)^n}{n!} \left\{ \left[A \left(\lambda, \xi_x; \frac{nq-1}{q-1} \right) \right]^{1-1/q} [A(\lambda, \xi_x; 2) (|f^{(n)}(a)|^q \right. \right. \\ & \quad \left. \left. - |f^{(n)}(b)|^q) + A(\lambda, \xi_x; 1) |f^{(n)}(b)|^q \right]^{1/q} \right. \\ & \quad \left. + \left[A \left(1-\mu, 1-\xi_x; \frac{nq-1}{q-1} \right) \right]^{1-1/q} [A(1-\mu, 1-\xi_x; 1) |f^{(n)}(a)|^q \right. \right. \\ & \quad \left. \left. + A(1-\mu, 1-\xi_x; 2) (|f^{(n)}(b)|^q - |f^{(n)}(a)|^q) \right]^{1/q} \right\}; \end{aligned}$$

2. *if $r = (n-1)q$, then*

$$\begin{aligned} |S(x; \lambda, \mu)| & \leq \frac{(b-a)^n}{n!} \left\{ [A(\lambda, \xi_x; 1)]^{1-1/q} [A(\lambda, \xi_x; (n-1)q+2) \right. \\ & \quad \times (|f^{(n)}(a)|^q - |f^{(n)}(b)|^q) + A(\lambda, \xi_x; (n-1)q+1) |f^{(n)}(b)|^q]^{1/q} \\ & \quad \left. + [A(1-\mu, 1-\xi_x; 1)]^{1-1/q} [A(1-\mu, 1-\xi_x; (n-1)q+1) |f^{(n)}(a)|^q \right. \\ & \quad \left. + A(1-\mu, 1-\xi_x; (n-1)q+2) (|f^{(n)}(b)|^q - |f^{(n)}(a)|^q) \right]^{1/q} \}. \end{aligned}$$

THEOREM 3.3. *Let $n \in \mathbb{N}$ and $f : I \rightarrow \mathbb{R}$ be a mapping such that $f^{(n-1)}(x)$ is absolutely continuous on $[a, b]$ and $a, b \in I^\circ$ with $a < b$. If $|f^{(n)}|^q$ is a convex function on $[a, b]$ for $q > 1$, then for $x \in [a, b]$ and $\lambda, \mu \in [0, 1]$, we have*

$$\begin{aligned} & |S(x; \lambda, \mu)| \\ & \leq \frac{(b-a)^n}{n!} \left\{ \left[B \left(\lambda, 0, 1, \xi_x; \frac{2q-1}{q-1} \right) \right]^{1-1/q} [A(0, \xi_x; (n-1)q+1) |f^{(n)}(a)|^q \right. \right. \\ & \quad \left. \left. + B(0, -1, 1, \xi_x; (n-1)q+1) |f^{(n)}(b)|^q \right]^{1/q} + \left[B \left(1-\mu, 0, 1, 1-\xi_x; \frac{2q-1}{q-1} \right) \right]^{1-1/q} \right. \\ & \quad \left. \times [B(0, -1, 1, 1-\xi_x; (n-1)q+1) |f^{(n)}(a)|^q + A(0, 1-\xi_x; (n-1)q+1) |f^{(n)}(b)|^q]^{1/q} \right\}, \end{aligned}$$

where ξ_x and $A(\lambda, c; r+1)$ are defined as in Lemma 2.1 and (3.2) respectively, $\alpha, \beta \in \mathbb{R}$, $c \geq 0$, $r > -1$, and

$$B(\lambda, \alpha, \beta, c; r+1) = \frac{1}{(r+1)(r+2)} \times \begin{cases} [(r+2)\beta + \alpha n\lambda](n\lambda)^{r+1} \\ \quad - [\alpha c(r+1) + \beta(r+2) + \alpha n\lambda](n\lambda - c)^{r+1}, & n\lambda \geq c, \\ [(r+2)\beta + \alpha n\lambda](n\lambda)^{r+1} \\ \quad + [\beta(r+2) + \alpha(c + cr + n\lambda)](c - n\lambda)^{r+1}, & 0 \leq n\lambda \leq c. \end{cases} \quad (3.5)$$

Proof. Similar to the proof of Theorem 3.1, applying Lemma 2.1, the convexity, and Hölder's inequality results in

$$|S(x; \lambda, \mu)| \leq \frac{(b-a)^n}{n!} \left\{ \left(\int_0^{\xi_x} |n\lambda - z|^{q/(q-1)} dz \right)^{1-1/q} \left[\int_0^{\xi_x} z^{(n-1)q} |z| |f^{(n)}(a)|^q \right. \right. \\ \left. \left. + (1-z) |f^{(n)}(b)|^q dz \right]^{1/q} + \left(\int_{\xi_x}^1 |1-z - n(1-\mu)|^{q/(q-1)} dz \right)^{1-1/q} \right. \\ \left. \times \left[\int_{\xi_x}^1 (1-z)^{(n-1)q} |z| |f^{(n)}(a)|^q + (1-z) |f^{(n)}(b)|^q dz \right]^{1/q} \right\}.$$

The rest is also similar to the proof of Theorem 3.1. \square

THEOREM 3.4. Let $n \in \mathbb{N}$ and $f: I \rightarrow \mathbb{R}$ be a mapping such that $f^{(n-1)}(x)$ is absolutely continuous on $[a, b]$ such that $a, b \in I^\circ$ with $a < b$. If $|f^{(n)}|^q$ for $q > 1$ is a convex function on $[a, b]$, then for $x \in [a, b]$ and $\lambda, \mu \in [0, 1]$, we have

$$|S(x; \lambda, \mu)| \\ \leq \frac{(b-a)^n}{n!} \left\{ \left[B\left(\lambda, 1, 0, \xi_x; \frac{2q-1}{q-1}\right) \right]^{1-1/q} [A(0, \xi_x; (n-2)q+2) |f^{(n)}(a)|^q \right. \right. \\ \left. \left. + B(0, -1, 1, \xi_x; (n-2)q+2) |f^{(n)}(b)|^q \right]^{1/q} + \left[B\left(1-\mu, 1, 0, 1-\xi_x; \frac{2q-1}{q-1}\right) \right]^{1-1/q} \right. \\ \left. \times [B(0, -1, 1, 1-\xi_x; (n-2)q+2) |f^{(n)}(a)|^q + A(0, 1-\xi_x; (n-2)q+2) |f^{(n)}(b)|^q]^{1/q} \right\},$$

where ξ_x and $A(\lambda, c; r+1)$ are defined as in Lemma 2.1 and (3.2) respectively, and $B(\lambda, \alpha, \beta, c; r+1)$ is defined as in (3.5) for $\alpha, \beta \in \mathbb{R}$, $c \geq 0$, and $r > -1$.

Proof. Similar to the proof of Theorem 3.1, applying Lemma 2.1, the convexity, and Hölder's inequality results in

$$|S(x; \lambda, \mu)| \leq \frac{(b-a)^n}{n!} \left\{ \left(\int_0^{\xi_x} z |n\lambda - z|^{q/(q-1)} dz \right)^{1-1/q} \left[\int_0^{\xi_x} z^{(n-2)q+1} |z| |f^{(n)}(a)|^q \right. \right.$$

$$\begin{aligned}
& + (1-z)|f^{(n)}(b)|^q \, dz \Big]^{1/q} + \left(\int_{\xi_x}^1 (1-z)|1-z-n(1-\mu)|^{q/(q-1)} \, dz \right)^{1-1/q} \\
& \times \left[\int_{\xi_x}^1 (1-z)^{(n-2)q+1} (z|f^{(n)}(a)|^q + (1-z)|f^{(n)}(b)|^q) \, dz \right]^{1/q} \Big\}.
\end{aligned}$$

The rest is similar to the proof of Theorem 3.1. \square

THEOREM 3.5. *Let $n \in \mathbb{N}$ and $f : I \rightarrow \mathbb{R}$ be a mapping such that $f^{(n-1)}(x)$ is absolutely continuous on $[a, b]$ such that $a, b \in I^\circ$ with $a < b$. If $|f^{(n)}|^q$ is a convex function on $[a, b]$ for $q > 1$, then for $x \in [a, b]$ and $\lambda, \mu \in [0, 1]$, we have*

$$\begin{aligned}
|S(x; \lambda, \mu)| & \leq \frac{(b-a)^n}{n!} \left(\frac{q-1}{nq-1} \right)^{1-1/q} \left\{ \xi_x^{(nq-1)/q} [B(\lambda, 1, 0, \xi_x; q+1)|f^{(n)}(a)|^q \right. \\
& + B(\lambda, -1, 1, \xi_x; q+1)|f^{(n)}(b)|^q]^{1/q} \\
& + (1-\xi_x)^{(nq-1)/q} [B(1-\mu, -1, 1, 1-\xi_x; q+1)|f^{(n)}(a)|^q \\
& \left. + B(1-\mu, 1, 0, 1-\xi_x; q+1)|f^{(n)}(b)|^q]^{1/q} \right\},
\end{aligned}$$

where ξ_x and $B(\lambda, \alpha, \beta, c; r+1)$ are defined as in Lemma 2.1 and (3.5) respectively.

Proof. Similar to the proof of Theorem 3.1, employing the convexity, Lemma 2.1, and Hölder's inequality produces

$$\begin{aligned}
|S(x; \lambda, \mu)| & \leq \frac{(b-a)^n}{n!} \left\{ \left(\int_0^{\xi_x} z^{(n-1)q/(q-1)} \, dz \right)^{1-1/q} \left[\int_0^{\xi_x} |n\lambda - z|^q (z|f^{(n)}(a)|^q \right. \right. \\
& + (1-z)|f^{(n)}(b)|^q) \, dz \Big]^{1/q} + \left(\int_{\xi_x}^1 (1-z)^{(n-1)q/(q-1)} \, dz \right)^{1-1/q} \\
& \times \left[\int_{\xi_x}^1 |1-z-n(1-\mu)|^q (z|f^{(n)}(a)|^q + (1-z)|f^{(n)}(b)|^q) \, dz \right]^{1/q} \Big\}.
\end{aligned}$$

The rest is also similar to the proof of Theorem 3.1. \square

Acknowledgements.

The authors would like to thank the anonymous referees for their helpful corrections to and valuable comments on the original version of this paper.

REFERENCES

- [1] U. S. KIRMACI, *Inequalities for differentiable mappings and applications to special means of real numbers to midpoint formula*, Appl. Math. Comput. **147** (2004), no. 1, 137–146, available online at [http://dx.doi.org/10.1016/S0096-3003\(02\)00657-4](http://dx.doi.org/10.1016/S0096-3003(02)00657-4).
- [2] C. É. M. PEARCE AND J. PEČARIĆ, *Inequalities for differentiable mappings with application to special means and quadrature formulae*, Appl. Math. Lett. **13** (2000), no. 2, 51–55, available online at [http://dx.doi.org/10.1016/S0893-9659\(99\)00164-0](http://dx.doi.org/10.1016/S0893-9659(99)00164-0).

- [3] F. QI, T.-Y. ZHANG, AND B.-Y. XI, *Hermite-Hadamard type integral inequalities for functions whose first derives are of convexity*, available online at <http://arxiv.org/abs/1305.5933>.
- [4] M. Z. SARIKAYA AND N. AKTAN, *On the generalization of some integral inequalities and their applications*, available online at <http://arxiv.org/abs/1005.2897>.
- [5] M. Z. SARIKAYA, E. SET, AND M. E. ÖZDEMİR, *On new inequalities of Simpson's type for convex functions*, *RGMI Res. Rep. Coll.* **13** (2010), no. 2, Art. 2, available online at <http://rgmia.org/v13n2.php>.

(Received November 30, 2012)

Shu-Hong Wang
College of Mathematics
Inner Mongolia University for Nationalities
Tongliao City
Inner Mongolia Autonomous Region, 028043
China
e-mail: shuhong7682@163.com

Feng Qi
Department of Mathematics
College of Science
Tianjin Polytechnic University
Tianjin City, 300387
China
e-mail: qifeng618@gmail.com, qifeng618@qq.com
<http://qifeng618.wordpress.com>